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General Instructions: : : | :
This question paper consists of 39 questions in 5 sections. . )
L All questions are compulsory. However, an internal choice is provided in some questions.

A student is expected to attempt om’J} one of these questions, -
i, Section A consists of 20 objective lype questions carrying I mark each.
iii, Section B consists of 6 Very Short questions carrying 02 marks each. Answers 1o these -7__
questions should in the range of 30 to 50 words. _
iv. Section C consists of 7 Short Answer lype questions carrying (03 marks each. Answers to fé‘
these questions should in the range of 50 to 80 words z
) Section D consisis of 3 Long Answer lype questions carrying 05 marks each. Answer to )
these questions should be in the range of 80 to 120 words.
Vi Section E consists of 3 source-based/case-based units of assessment of 04 marks each with 2
sub-parts. Vo L : S
o) “ Section A
Select and write the most appropriate option out of the four options given for each of the questions 1 - 20.
| There is no negative mark for incorrect response. :
Q1 | The white of an ©gg, common salt, sugar and fine sand are added to water separately in 1

beakers as shown below. The mixture is stirred well, A suspension will be formed in the
beaker P

White of an egg Common salt -

-

by

@L I @I @av)

Q2 | Dry ice does not wet our hands as ' 1.
(a) It is Solid tarbon dioxide  (b) It turns into gas without changing into liquid.

(c) Itnever tums into liguid  (d) None L
' Q3 | A form of matter has no fixed shape but it has a fixed volume, An example of this matter | 1
is

(a) Krypton (b) Kerosene
_| (¢) Carbon steel (d) Solid Carbon dioxide ¥
Q4 | Once the ice cubes completely get converted into water, the volume of water will be 1

(a) equal to V (b) more than V
() equalto 2V (d) less than V

Q5 | Rakesh was preparing a true solution of sugar in water in a beaker, By chance, he added 1
sugar in excess. He kept stirring the solution for some time but the sugar settled down in
the beaker. He filtered the solution. What will be the nature of the filtrate?

E (a)True Solution (b) Saturated solution

1




1<) Collosdal solution.  {d) Suspension

Select the following which has highest kinetic energy?
aPartcles of waterat 0 °C (b)Particles of ice at 0 °C
ic Particles of steam at 100 °C  (d)Particles of water at 100 °C

Two chemical species X and Y combine together to form a product P which contains
both Xand Y

X-Y—P. X and Y cannot be broken down into simpler substances by simple chemical

reactions. Which of the following concerning the species X,Y and P are correct?

(1) P is a compound (i1} X and Y are compounds
(iii) X and Y are elements (iv) P has a fixed composition
(@) (1). (i1) and (1) (b} (i), (ii1) and (iv)

(c) (i). (ii1) and (iv) (d) (1), (ii) and (iv)

Qs

Which meristem increase the length of the stem and the root ?
(a) Apical meristem ‘

(b) Lateral meristem

(¢)Intercalary meristem

(d)Cambium

Two modification of parenchyma are :-
(a) Collenchyma & Scleranchyma

(b) Chlorenchyma & Aerenchyma

{¢) Xylem & Phloem

(d) Primarv meristem & Secondary
meristem

Q10

3 . o
Chlorencyma is :- -

fay Parenchyrmia Which Toiams chiorophyll
{b) Meristem which contains chlorophy}l
(c) Parenchyma with large air cavities ' é’
(d) Storage tissue contains no pigment

Q11

Which tissue makes up the husk of coconut?
(a) Meristem (b) Parenchyma
(c) Collenchyma (d) Sclerenchyma

Q12

Which out of the following is not a function of vacoule?
(a) Storage
(b)Providing turgidity & ngldlty to the

cell

(c) Waste excretion

= | (d) Locomotion

Ql3‘

‘Newton’s law of grav1tat10n applies to

(a)Small bodies only : {b)Light 2
(c)All bodies m‘espectne of their size . (d)Both (B) and (C)

Q1a

A football and a stone has same mass
{a)Both have same inertia (b)Both have same momentum
{c)Both have different inertia (d)Both have different momentum

Q15

Stroma is present in :- .
(a)Mitochondria (b)Leucoplast  {c)Endoplasmic reticulum (d) Lysosome

Q16

The maximum speed of the train is 90 km/hr. It takes 10 hour to complete a distance of 500 km.
Find the ratio of average Speed to maxlmum speed

(a)2:3 7

(b)5:9

(e)4:7

{(d)7:13

I



d;lesti;)n No. 17 to 20 consist of two statements — Assertion (A) and Reason {R). Answer these

- gquestions by selecting the appropriate option given below:

 {a) Both A and R are true, and R is the correct explanation of A.

- {b) Both A and R are true, and R is not the correct explanation of A.
1 {c) A is true but R is false.

{d) A is false but R is true.

Q17 Assertion: The Tyndall tﬁet.l can be observed when suniluhi passes throu;__h thc, canopy
of dense torest, .

Reason: Scattering of Hizhi by the particles-of dust and smoke in the air cause dispersion.

013 \bseruon The nuclear reyan in bacterial cell is poorly ‘detined. \9
. Reason: There is absence of nuciear membrane in bacterial cell

Q19

wilf reach the ground first
~ Reason The resistance due te arr depends on velocity oniy

Assertion. If we drop 4 stone and a sheet of paper from a baicony of first floor, then stone

Q20 Asseruon: The zraph between two physical quantities P and Q is straight line. when P/Q 1

1S constant.

" Reason. The straight Line graph means that P is proportional o () or P is equal to constant :

+ muliiplied by Q.

Section B

o 3 Questmn\\n 21 to 26 are very short answer questions
21 Z {a}w h\ Cnmpre«f:d natura! 2as (ONG) 1s used as fuel these dd\‘- in vehicles”

- {byWhy steel is used 1o make railway lines.

Pt

| Q22 | Write two differences between plasma membrane & cell walt? P
23 | (a)Which two vrganelies produce some of their own protein?

| (byWhat is the energy currency of the cell? i

FQE“ | An iron sphere nf‘ mass 1 kg is dropped from a height of 10 m. If the acceleration A

_ sphere is 9 8 ms™. calculate the momentum transferred to the ground by the ball. ! :
Q25 : Derive the mathemailcai reiat-on of Newton’s second law of motion, 7. R
Q26 j e permanent cell?
OR - 7
| Write major function of sipmata present in epidermis? R _
el A———

Question No. 27 to 33 are short answer yuestions,

=
™
e ¥

tetms of mass/mass perceniage of solution. )

Q28 X group of students took an old shoe box and covered it with a biack paper trom all

' sides. They fixed a s0urce: of light (a torch) at one end of the box by making a hoie'in 1t
and made another héle ou the other side to view the light. They placed a milk sample .
contained in a beaker‘tumbler 1n the box as shown in the figure. They were amazed to sce -
that milk taken 1n the wmbler was illuminated. They tried the same activity by takinga
salt solution but found that light simply passed through it

ta) Explain why the milk sample was illuminated. Name the phenomenon mvolved

et i

%

15
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A solution contains 40 2 of common salt in 320g of water, Caleulate the concentration - 3



-i Q33

i
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Q32

Q34

"-‘! {b1You are grvety two \.,ll‘nDicxni water labelled as *A° and 'B’. Samp}e A7 boils at ®

. {a)The speed acquired

Shoe box

Glass tumbier
eontaining sampte

th) Same resuiis were not ebserved with a salt solubons Baplain.
(o) Can vou <azsest o more solutions which would show the same effecr as shown by
- the milk sobunon

Vrtte the Tores, - jL}“ S Usstie with diagram’ TR

If'the orgamizatior o7 2 cell is destroved due to some ph\«:,wal and \.,Ht.’l}lﬂ.dl ..hans_e :nﬂu“nu 1
. what will happes: = e R
' What is the force . FoATa A on z body of mass | kg lying on the surface of the carth R
. Assume mass of the carth = 6 » 10* kg, radius of the earth = 6.4 « 1Pm, and G ~ 6.7 ~

iy

EE— s

b -
The \elocm of a bods ~f oy mass [Okg increases trom 4m/ 5o 8 m s when % Horee ac 15 on E
b1t for 23 3 0.5+
! L {aj thl s the miomenuum Refore the force acts? ;! ' ha
- (b) What is the mowienium atier the force acts? 1

te) What 1s the gain i nowentui per second? e

. (d) What is the value of the force?: L

i A buller of 10 ¢ strikes a sand bag at a speed of 10° my's and gets embedded after
Ild\tilmt 5 em, Caleulare .
(1) The resistive force exerted by the sand on the bullet. —5 T i B
(u) The time taken by the bullet 10 come to rest :

Section D
P Question No. 34 10 36 are long answer questions. e
|[ (a)fron filin

gs and sulphur were mixed together and divided into two parts "A’ and ‘S 3
Part A7 was heated strongly while Part ‘S’ was not heated. Dilute | hydrochioric acid was |

; added  both the parts and evolution of gas was seen in both the cases, How will vou '
Cdenuify the gases evolved”

8]

“, 100°C and sample *B" boifs at 102°C. Which sample of water will not freeze at H°C7 s

L ornment.

| What is the dlsperacd plmsc and dispersion medium of an emulsion ? 1 '

i
!
i
|

o R S

What 1s Xvlem? £ \piam is str mlure ’ Which one of its Lompunem is very important & &

why?
» 5
OR

| t nlist & Explain four clements of phloem? Which one of therm is mast important & why?

{ faylwo stones arc thrown vertically upwards simultancoush with their inftial velocites 21
i Prove that the ratio of heights reached by them would be (1 the propottion of ul-u’
| Assume upward acceleration is -y and downward acceleration is +g_ ;

(b A car starts from rest and moves with a uniform acceleration af 0.1 m/s 2 for 2

~minutes. Find:

j‘f




|

—

(b) The distance travelled

Question No. 37 to 39 are case-based/data

“Section E

choice is provided in one of these sub-parts.

-based questions with 2 ta 3 short su b-parts. Internal

Q37

In certain investigatory project 150 ml of water is taken in each of the four beakers
A, B, Cand D. Beaker A and B are maintained at temperature 25 degree Centigrade
while C and D are maintained at temperature 65degree Centigrade. Four crystals of
copper sulphate of approximately same mass (say 2g) are taken and two of them are
ground into powder form. Now, crystals are added in beaker A and C while powdered
form of the salt are added in beaker B and D respectively.

Mark the correct answer in each of the following questions:

(i) In which beaker the intermixing will be the quickest? >

(i1) Colour of solution after Intermixing will be?

(iii) Phenomenon responsible for intermixing is called? Also define the term.

1+1+
2

Q38

Cork is a substance which comes from the bark of the tree. This was in the year 1665 when Robert
Hook made this chance observation through a self-designed microscope. He called honeycomb
like boxes “cells”. Cell is a latin word for a “little room”. Answer the following question :-
(a)What is the source of cork.Is it living or dead?

(b)What is the latin word for a “Little room” “
(¢)Who discovered cells for the first time and in which year?

1+1+

Q39

Newton’s first law of motion states that a body at rest will remain at rest position only
and a body which is in motion continues to be in motion unless otherwise they are acted
upon by an external force. In other words, all objects resist a change in their state of
motion. In a qualitative way, the tendency of undisturbed objects to stay at rest or to keep
moving with the same velocity is called inettia. This is why, the first law of metion is -
also known as the law of inertia. Answer the following questions.

(1) The first law of motjon is also known as? b
{i1) If no external force is applied on the object then the acceleration of the object is?
(iii) State Newton’s first law of motion.

1+1+
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